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  ظلل الرمز الدال على الإجابة الصحيحة 0لكل بند أربعة اختيارات واحد منها فقط صحيح   
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              89,67              8,967               896,7                8967 
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.............................................................................................................................                                        
            

     0.08      ×0,007   = 
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ي للقيم :         7 هو    3،    1،     15،    9المتوسط الحساب 
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       1                    0,99 
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 د جـ ب أ 0,005                  500                    50                 0,5 
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